BROEN

VALVE TECHNOLOGIES

o)

— BROEN Ballofix® produktéversikt 2020



Ett urval av vara BROEN Ballofix® BROEN

VALVE TECHNOLOGIES

1/4x 1/4 8540106
3/8x3/8 8540114
1/2x1/2 8540130
3/8 x 3/8 8540057
1x1 8540323

8x8 8540700 10x8 8541203
10x10 8540718  12x8 8541211
12x12 8540726  12x10 8541229
15x15 8540742 15x10 8541237 \

1/2x10 8541369
SN 1/2x12 8541377
\ 1/2x15 8541385

“4'{-\\ V7

16x16 8541255 15x12 8541245
18x18 8540759  15x16 8541260
22x22 8540767  22x15 8540768

1/4 x 1/4 8540304 12x12x12 8541896 1/2x10 8540510
v ™ 3/8 x 3/8 8540312 12x15x 12 8541898 1/2x12 8540528
7 \kds 1/2 x 3/8 8540314 15x 15 x 15 8541897 1/2x15 8540536
w 1/2 x 1/2 8540320 3/4x22 8540544
: 3/8 x3/8 8540338
1x1 8540318
o™
. 3/8 x 3/8 8540923 »  10x10 8541888 i ( 1/2 x 1/2 8540331
DN 1/2x1/2 8540924 s 12x12 8541891 y g{ ~ ﬁ
o) 3/4x3/4 8540319 ‘ 3) 15x15 8541892 ¢ I f e ﬁ' “
w . 22x22 8541894 W& |
e  10x12 8540586 | \

10x15 8540587
15x12 8541893

1/2x15 8540941
(med backventil)

\ Q NN
\ \\\\ 1/2 x 1/2 8540325 (== /} =\ 1/2x1/2x1/2 8540326

. ' ) (med backventil) :*"‘" w: (med backventil)

aalberts



Ett urval av vara BROEN Ballofix® BROEN

VALVE TECHNOLOGIES

10x10 8540343 1/2x12 8540547 12x12 8540546
. 10x12 8540344 g % 1/2x15 8540557 \ 15x15 8540552
J 10x15 8542622 W 3/4x22 8540559 " 18x 18 8540561
12x12 8540345 r i\ w N = 22x22 8540554
15x15 8540347 \ 4 4 \ 1 JJ g

22x22 8542624

? \\ 1/2x10 8542625

1/2x15 8542631
(\ g

1/2x1/2 8540583 * :\‘\\\ 1/2x1/2 8540940

10x 3/8 8540348
12 x3/8 8540349
15x3/8 8540378
12x1/2 8540350
15x1/2 8542628

1/2x1/2 8540585 ’Vﬂ“ 1/2x1/2 8541884

N

1/2x12 8540577
1/2x15 8540578
(med lekande mutter)

\
R‘\}\ 1/2 x 1/2 8540582 W 1/2 x1/2 8540579
3/4 x 3/4 8540591 (med lekande mutter) A \
: &\
\)

(med lekande mutter)

aalberts



Ett urval av vara BROEN Ballofix® BROEN

VALVE TECHNOLOGIES

3/8-1/2 svart 8541402 Q@; g 2xR15 M28 2217777 8 2164809
3/4-2  svart 8541420 He 10 2164810
3xR15 M28 2217778 12 2164811
15 2164812
16 2164813
18 2164814
3/8-1/2 réd 8541403 2 x R15 1965504 22 2164815
2 x M28 1965505 28 2164816

M28 x R20 1965507
M28 x VSH22 1965508 10 Fkr 2164817
12 Fkr 2164818
3/8-1/2 bl3 8541404 - 15 Fkr 2164819

"/1 2xR15 1965506
(‘!‘ o 10x8 1934316
N . 128 1934317
3/8-1/2 krom 8541405 Mutter 10 5197129 12 x 10 1934318
-“J Mutter 12 5197130 15x 8 1934319
r \\ Mutter 15 5197131 v 15 x 10 1934320
& Mutter 16 5197132 15 x 12 1934321
3/8-1/2 svart 8541401 Mutter 22 5197134 16 x 10 1934324
3/4 -1 1/4 svart 8541419 Mutter 28 5197135 16 x 12 1934325
(gammalt vred) 18x 12 1934326
Klamring 10 5197145 18 x 15 1934327
- Klamring 12 5197146 22x12 1934328
e ) Klamring 15 5197147 22x15 1934329
M18x1,5 x 12 8540632 <9 Klamring 16 5197148 22x18 1934330
M22x1,5 x 15 8540633 Kldmring 18 5197149 28x 12 1934331
M22x1,5 x 16 8540634 Klamring 22 5197150 28x 15 1934332

Kldmring 28 5197151 28 x 22 1934333

aalberts



Ever since BROEN was established
our passion for valve technology has been
our core competence.

Our brand is our promise.

For more information: www.broen.se



